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Micro Max BEMRY /3—H A K5 —+ 52K 0737 km

=7 % 2022/06/19 08:50

S B

Pos.  No. H81 F—=4LA& BestLap % Inlap 2 SR
1 48 ZHER WITH RC 37.832 - 7 Micra Max
2 10 BRH HEE 3/L—L Y 37.848 +0.016 9 Micra Max
1 61 /NEE 3 3L =L w4 37.985 +0.153 7 Micra Max
4 39 ¥R Bt /L — 04 38.290 +0.458 8 Micra Max
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2022RMCRIIR &BIRFv L 2 & 1) —XRd2 AANSY TR LOZEG

Micro Max BRY /8—H o K~ SR 0737 km

TT5% 2022/06/19 09:35

> )

Pos. No. B#l F—bB BestLap = inLap 7 S5 X
1 61 NEW = Pl—L 5 37.655 - 6 Micra Max
2 48 T K ER WITH RC 37.738 +0.083 7 Micra Max
3 10 REAEE -y 37.824 +0.169 7 Micra Max
4 39 F0HE RRth /L= g 38.148 +0.493 6 Micra Max
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2022RMCEIR &FIRF ¥ LY & 1) —XRd2

Micro Max R N—H 4 K H— S2F 0.737 km
Fi:& —+ 107 2022/06/19 10:50
L—X
Pos. No. £ il 2 5 A Laps = GAP Total Time BestlLapIn Lap F—A%
1 61 /NER 7 Micra N 10 - - 6:55.179 37877 10 39— >
2 48 ZIF TR MicraN 10 +0.214 +0.214 6:55.393 37.854 10 WITH RC
3 10 FEH ZKE Micrah 10 +1.406 +1.192 6:56.585  38.044 8 IIL—
4 39 #0H ABth Micrah 10 +1911 +0.505 6:57.090 38.080 3 IL— 2
e DE F ¥ ERE ' RS9 AR+ F R RSy TREE:
+0.214 63.905 37.854 70.090 [48] Z i ER
HF— s = ; Orbits 4
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2022RMCRR &FIRF v L2 & 1) —XRd2

Micro Max BRY /3= B h— SR 0737 km
7 4 FHle—+ 1 1438 2022/06/19 13:00
L—X
Pos. No. &R 25X Laps = GAP Total Time BestLapIn Lap F—L%

1 61 /NAEIF = Micrah 12 - - 8:07.808 38.281 5 39—
2 39 FIH Rits MicraN 12 +0.241 +0.241 8:08.049 38.037 11 39—
3 48 Z %G EFk Micrah 12 +0.337 +0.096 8:08.145 38.236 11 WITH RC
4 10 EH FEE Micral 12  +0.566 +0.229 8:08.374 38.219 7 39— 2

xmE B B RA S R b T RA LSy FREEE.

+0.241 65,268 38.037 69.753 [39] 08 Bith
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